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MCM-101 
Business and Economic environment 

O;kolkf;d vkSj vfFkZd i;kZoj.k 

Master of Commerce (M.Com-17) 

First Year, Examination - 2019 

Time: 3 Hours     Max. Marks: 80 

………………………………………………………………. 

Note:- This paper is of Eighty (80) marks divided into 
three (03) Section A, B and C. Attempt the question 
contained in these sections according to the detailed 
instructions given therein.  

uksV%& ;g iz'u&i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ 
[k.Mksa d] [k rFkk x esa foHkkftr gSA izR;sd [k.M esa fn, 
x, foLr`r funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA 

Section-A ¼[k.M&d½ 

(Long Answer Type Question) ¼nh?kZ mÙkjh; iz'u½ 

Note:-  Section ‘A’ contains four (04) long-answer-
type questions of Nineteen (19) marks each. 
Learners are required to answer any two (02) 
questions only.                (19×2=38) 
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uksV%& [k.M ^d* esa pkj ¼04½ nh?kZ mÙkjh; iz'u fn;s x;s gSaA 
izR;sd iz'u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 
f'k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz'uksa ds mÙkj 
nsus gSaA 

1. What is environment? How you will define 
economic and social environment of Business. 

 i;kZoj.k D;k gS\ vki O;olk; ds vkfFkZd ,oa 
lkekftd i;kZoj.k dks dSls ifjHkkf’kr djsaxsaA 

2. What is industrial sickness? Enumerate the 
causes of industrial sickness of India. 

 vkS|ksfxd :X.krk D;k gS\ Hkkjr esa vkS|ksfxd :X.krk 
ds dkj.kksa dh O;k[;k djsaA 

3. Define liberalization. What is the impact of 
liberalization in the economy of india?  

 mnkjhdj.k dks ifjHkkf’kr dhft,A Hkkjr dh 
vFkZO;oLFkk ij vFkZO;oLFkk ij mnkjhdj.k dk D;k 
izHkko gS\ 

4. Write an explanatory note on growth and 
structure of Private sector in India. 

 Hkkjr esa futhdj.k dh o`f) ,oa lajpuk ij 
O;k[;kRed fVIi.kh fy[ksA 
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Section-B ¼[k.M&[k½ 

(Short Answer Type Question)@¼y?kq mÙkjh; iz'u½ 

Note:-  Section ‘B’ contains eight (08) short answer 
type questions of Four (04) marks each. 
Learners are required to answer any four 
(04) questions only.   (8×4=32) 

uksV%&  [k.M ^[k* esa vkB ¼08½ y?kq mÙkjksa okys iz'u fn;s 
x;s gSaA izR;sd iz'u ds fy, vkB ¼08½ vad 
fu/kkZfjr gSaA f'k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ 
iz'uksa ds mÙkj nsus gSaA 

1. Differentiate between balance of trade and 
balance of payment. 

 O;kikj larqyu ,oa Hkqxrku larqyu esa varj Li’V 
djsaA 

2. Critically evaluate social responsibility of 
Business. 

 O;kikj ds lkekftd mRrjnkf;Ro dk vkykspukRed 
ijh{kk djsaA 

3. What do you understand by inflation? How it 
is useful for economy? 

 eqnzkfLQfr ls vki D;k  le>rs gS\ ;g vFkZO;oLFkk 
ds fy, fdl izdkj mi;ksxh gS\ 
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4. Describe the role of micro finance institations 
in developing economy. 

 fodkl”khy vFkZZO;oLFkk esa y?kq foRr dh Hkwfedk dk 
o.kZu djsaA 

 

5. Explain the role of Regional trading blocks in 
world trading system. 

 fo”o O;kikj iz.kkyh esa {ks=h; O;kikj vojks/kkas dh 
Hkwfedk dh O;k[;k dhft,A 

 

6. What are the problems and prospects of 
private sector in India? 

 Hkkjr esa futh {ks= dh leL;k,¡ ,o lEHkkouk,¡ D;k 
gS\ 

 

7. What are the objectives and scope of public 
sector in India? 

 Hkkjr esa lkoZtfud {ks= ds mís”; ,oa {ks= D;k gS\ 

 

8. Explain the India’s fiscal economic reforms. 

 Hkkjr ds jktdks’kh; vkfFkZd lq/kkj dh O;k[;k djsA 
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Section-C ¼[k.M&x½ 

(Objective Type Questions) / (oLrqfu"B iz'u) 

Note:-  Section ‘C’ contains ten (10) objective type 
questions of One (01) marks each. All the 
questions of this section are compulsory. 
     (10×1=10) 

uksV%&  [k.M ^x* esa nl ¼10½ oLrqfu"B iz'u fn;s x;s gSa] 
izR;sd iz'u ds fy, ,d ¼01½ vad fu/kkZfjr gSaA bl 
[k.M ds lHkh iz'u vfuok;Z gSaA 

Indicate whether the following statements are True 
or False : 

lR; vkSj vlR; fy[ks % 

1. Management theories and principals apply 
only to large corporations, not small business.
              (True/False) 

 izca/k ds fu;e ,oa fl)kUr dsoy cMs fu;eksa ij 
ykxw gksrs gSa NksVs O;olk; ij ughaA  ¼lR;@vlR;½ 

2. Technology has created new ethical dilemas.
                    (True / False) 

izkS|ksfxdh esa u;s uSfrd vleatl mRiUu fd;s gaSA 
          ¼lR;@vlR;½ 

3. Inflation is calculated over a period of time. 
              (True/False) 
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eqnzkLQhfr dh x.kuk ,d fuf”pr le; ds fy, dh 
tkrh gSA         ¼lR;@vlR;½ 

4. Microfinance includes the provision of small 
loans to rich clients.                (True/False) 

 y?kq foRr esa /kuh xzkgdksa dks _.k nsus dk izko/kku 
gksrk gSA        ¼lR;@vlR;½
  

5. Trading blocks are likely to distort world 
trade.              (True/False) 

 O;kikj vojks/k fo”o O;kikj dks fod`r djrs gSA  

          ¼lR;@vlR;½ 

Select the best/most correct alternatives for 
the followings : 

fuEufyf[kr gsrq loZJs’B rFkk lokZf/kd lgh fodYi 
dk pquko dhft, % 

6. What is the tenure of the chairman of the CCI 
as per the competition act, 2002? 

 (a) 3 years (b) 4 years 

 (c) 5 years (d) 2 years 

 Hkkjrh; izfrLi/kkZ vk;ksx ds vf/kfu;e 2002 ds 
vuqlkj v/;{k dk dk;Zdky fuEu esa ls D;k gksrk 
gSA 

 (a) 3 o’kZ  (b) 4 o’kZ 

 (c) 5 o’kZ  (d) 2 o’kZ 
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7. Antyodaya Anna Yojana was launched in. 

 (a) 2003  (b) 1999 

 (c) 2000  (d) 2005 

 vR;ksn; vUu ;kstuk fuEu esa  ls dc izkjEHk dh 
xbZ& 

 (a) 2003  (b) 1999 

 (c) 2000  (d) 2005 

8. Rangrajan committee is related with- 

 (a) Poverty (b) Black money 

 (c) Disinvestment (d) Inflation 

 jaxjktu lfefr fuEu esa ls fdlls lEcfU/kr gS& 

 (a) xjhch  (b) dkyk /ku 

 (c) fofuos”k  (d) enzkLQhfr 

 

9. By which act government cheeks restrictive 
trade. 

 (a) Industrial policy act 1999. 

 (b) MRTP Act   

(c) FEMA Act 

 (d) None of these 
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 fuEu esa ls fdl vf/kfu;e }kjk ljdkj izfrcaf/kr 
O;kikj dh tk¡p djrh gSA 

 (a) vkS|ksfxd uhfr vf/kfu;e 1999 

 (b) ,e-vkj-lh-ih-  

(c) Qsek vf/kfu;e 

 d) mijksDr esa ls dksbZ ugha 

10. Planning is a _________ process. 

 (a) Good Oriented  

(b) Flexible 

 (c) Time bound   

(d) All of these 

 fu;kstu ,d -------------------------------------izfØ;k gSA 

 (a) y{; mUeq[k  

(b) yphykiu 

 (c) le; c)  

(d) mijksDr lHkh 

***** 


